Octagonal/Round Table
Instructions

Assembly Guide

NBB4@> NBB NBB@” NBB
Recycled Outdoor' Premises School

Furniture Shelters & Matting Shelters

RFHOP-06-030919 08001777 052



Note: Only octagonal parts Paris qnd Flﬂlngs
shown, Round has different [

table fop and seating.

Two People required
for safe assembly

(Assembly remains the same)

ITEM NO. | PART NAME | DRG NUMBER IMAGE Qry.

Octagon -
1 Round Seat- | OR-001-01 ﬁ] 4
995x294 - OR

UC1 - ' =
2 995338 - | OR-02001 | —— 4
R

UCS5 - = -
3 900x88x38 - | OR-025-03 4
OR \ . N

UC2 -
4 400xg8x38 - OR-021-01 8
R

UC3 -
5 643X88X38 - | OR-022-01 || . | B 4
OR

e it
7 312x88x38 OR-024-02 1
Block -OR

Octagonal
8 Table OR-005-06 1
Assembly - OR




Fixings Supplied

FIXINGS QTY.
M10 X 130 4
MI10 X 110 4
M10 X 90 16
M10 X 60 12
M10 WASHER 68
M10 NUT 24

Tools required

/ 17mm Spanner

4 6mm Allen Key

x1

x1




Step 1

Bolt leg UC5 to UC1 using 90mm bolts
supplied, repeat for all other legs.

Note: Assemble
exactly as shown.

Do not over-tighten bolts during assembly as
small adjustments will help parts fit.

Assemble each seat as
below using (2x)90 &
(2x)60 bolts supplied.

ITEM NO. PART NAME DRG NUMBER |Step 3 QTY.
1 Octagon - Round Seat - 995x294 - OR OR-001-01 1
2 UC2 - 400x88x38 - OR OR-021-01 2
3 UC3 - 643X88X38 - OR OR-022-01 1

4



Bolf step 1 & 2 assemblies
together using M10x%90 & 60.

Ry

All 4 assemblies should be the same before continuing.

Ensure leg sits in line
with brace

Step 4 Secure seat assembly to

block with M10x110.




Step 5 Bolt the table top to
the 4 legs centrall i

Step 6







THANK YOU
FOR PURCHASING THIS PRODUCT

CONTACT DETAILS:

Email : sales@recycledfurniture.co.uk
Web : www.recycledfurniture.co.uk
Tel : 0800 1777 052
NBB Recycled Furniture,Unit 5, 145 Sterte Road,Poole, Dorset BH15 2AF

All Parts and Fixings checked by:

Print Name: Signature




	Front Page
	Drawing View51

	BOM
	Drawing View52
	Drawing View53
	Drawing View54
	Drawing View61
	Drawing View62
	Drawing View63
	Drawing View66
	Drawing View68
	Drawing View69
	Drawing View80
	Drawing View81
	Drawing View82
	Drawing View83

	Fixings
	step 1 & 2
	Drawing View71
	Drawing View84
	Drawing View85

	step 3 & 4
	Drawing View76
	Drawing View87
	Drawing View88
	Drawing View89

	step 5 & 6
	Drawing View78
	Drawing View79

	Notes 02
	Contact details

